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QUESTION 1

What will be printed, if anything, to SYSPRINT after executing the following code? DCL A FIXED
CONTROLLED;

DCL P PTR;

DCL X FIXED BASED(P);
ALLOC A;

A=1,

ALLOC A;

A=2;

P = ADDR(A);

ALLOC A;

A=3;

P = ADDR(A);

ALLOC A;

A =4

FREE A;

FREE A;

PUT DATA(X);

A2

B.3

C.4

D. The results are undefined.

Correct Answer: D

QUESTION 2
Which software quality describes the ability of software to cooperate with other applications?
A. Reusability

B. Interoperability
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C. Scalability
D. Portability

Correct Answer: B

QUESTION 3

Given the following code, which call will pass a dummy argument?
PROG: PROC OPTIONS(MAIN);

DCL SUMO01 DEC FIXED(5,0) INIT (7);
DCL SUMO02 DEC FIXED(9,0) INIT (999);
CALL SUBA(SUMO1,

SUMO02);

CALL SUSB(SUMO01,

SUMO02);

CALL SUBC(SUMO01,

SUMO02);

CALL SUBD(SUMO01,

SUMO02);

SUBA PROC( PRM1,

PRM2);

DCL PRM1 DEC FIXED (5,0) BYVALUE,
PRM2 DEC FIXED (9,0);

END SUBA;

SUBB: PROC( PRM1,

PRM2);

DCL PRM1 DEC FIXED (5,0),

PRM2 DEC FIXED (9,0);

END SUBD;

SUBC: PROC( PRM 1,

PRM2);
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DCL PRM1 BIN FIXED (15,0),
PRM2 DEC FIXED (9,0);

END SUBC;

SUBD: PROC( PRM 1,

PRM2);

DCL PRM1 DEC FIXED(5,0) BYADDR,
PRM2 DEC FIXED (9,0) SYADDP;
END SUBD;

END PROG;

A. Call to SUBA

B. Call to SUBB

C. Call to SUBC

D. Call to SUBD

Correct Answer: C

QUESTION 4

Given the following declaration for X:

DCLX FIXED DEC (3) INIT (123);

If Y is declared as CHAR, what should its minimum length be to preserve the value 123 if these statements

are executed?

Correct Answer: D

QUESTION 5
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Which of the following is NOT a builtin subroutine which supports Logical Unit of Work?
A. PLICKPT

B. PLILUW

C. PLIREST

D. PLICANC

Correct Answer: B
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